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.RWD /DPD %DQ\XPDV DGDODKQ NDZDVDQ \DQJ EHUDGD GL NDEXSDWHQ

EDQ\XPDV� 'DKXOXQ\D� .RWD /DPD %DQ\XPDV PHUXSDNDQ NDZDVDQ SXVDW

SHPHULQWDK .DEXSDWHQ %DQ\XPDV VHEHOXP SLQGDK PHQXMX 3XUZRNHUWR� +DO LQL

PHPEXDW NDZDVDQ WHUVHEXW PHPLOLNL EHUEDJDL PDFDP ZDULVDQ SHQLQJJDODQ \DQJ

PHPLOLNL GD\D WDULN EDJL PDV\DUDNDW PDXSXQ ZLVDWDZDQ \DQJ PHQFDUL SHVRQD

EXGD\D GDQ NHVHQLDQ WUDGLVLRQDO� 1DPXQ SRSXODULWDV NDZDVDQ LQL PDVLK PLQLP GL

PDV\DUDNDW WHUXWDPD PDV\DUDNDW %DQ\XPDV GDQ VHNLWDUQ\D� 6HODLQ LWX� .DZDVDQ

.RWD /DPD %DQ\XPDV VHPSDW PHQGDSDWNDQ UHYLWDOLVDVL SDGD WDKXQ ���� GDQ EDUX

GL EXND NHPEDOL SDGD DZDO WDKXQ ���� ROHK NDUHQD LWX SHQJHQDODQ .RWD /DPD

%DQ\XPDV GHQJDQ ZDMDK \DQJ EDUX PDVLK WHUJRORQJ EDUX ROHK NDUHQD LWX

GLEXWXKNDQ SHUDQFDQJDQ EUDQG LGHQWLW\ XQWXN PHPEDQJXQ FLWUD GDUL ORNDZLVDWD

.RWD /DPD %DQ\XPDV VHEDJDL NDZDVDQ 3DULZLVDWD EXGD\D� 8QWXN PHQ\HOHVDLNDQ

SHUPDVDODKDQ GLDWDV SHQXOLV PHQJXPSXONDQ GDWD PHODOXL PHWRGH REVHUYDVL � VWXGL

OLWHUDWXU� ZDZDQFDUD VXPEHU WHUNDLW� GDQ PHPEDJLNDQ NXHVLRQHU� 0HGLD \DQJ DNDQ

SHQXOLV JXQDNDQ DGDODK JXLGHOLQH ERRN XQWXN LGHQWLWDV YLVXDO .RWD /DPD

%DQ\XPDV GDQ EDJDLPDQD LGHQWLWDV LQL GLDSOLNDVLNDQ NH EHUEDJDL PHGLD ODLQQ\D�

3HQXOLV EHUKDUDS 7XJDV DNKLU LQL GDSDW PHPEDQWX PHPEDQJXQ EUDQG DZDUHQHVV

PDV\DUDNDW WHUKDGDS .RWD /DPD %DQ\XPDV�

.DWD .XQFL � 3DULZLVDWD %XGD\D� .RWD /DPD %DQ\XPDV� ,GHQWLWDV YLVXDO


